EECS 3213 Assignment 4 Solutions Fall 2014

1. A transmitter capable of operating at 2.3 Mbps sends a frame consisting of 2200 bytes
down a 500-km
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2. A three-color display using 10-bits per color per pixel is to be sent at a frame-rate of
48-FPS (frames
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3. The signal-to-noise ratio achievable through a channel is 37 dB. What is the
minimum channel bandwidth
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4. Problem 3.32
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5. A clever PAM scheme
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6. Constellation size needs
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8. Problem 339
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9. Problem 3.40
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10. Problem 3.43
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11. Problem 3.55
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12. Problem 3.56
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13. Problem 3.57
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14. Problem 3.58
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15. Problem 3.59
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16. SW ARQ
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17. SW ARQ and errors

4) / MB = ?"Zw A/'%S MUS% A.g_, S&ﬂl

w/‘% é/l7z DY i‘«f&, 2/ P:/&f /o;noéaé/%./
7/ P <%'s/nj/-e b/t orov s o file /'s/
g:2%

(1-p) < (1-00) = 227:07"

Page 10 of 13



EECS 3213 Assignment 4 Solutions Fall 2014

29) _ (/'/D) + d7005. oﬂmc?/ &qmb

/éﬂx'ry errev Tree,

c /070 clland{ Zﬂ 7[;"qu 6.24217 2oV~

C) o Fincd Ho L)[/;'u@c)/ of Hes  Fransmissibn
sc/hem{,/ 'IL/)Q,M vse Thi's b calevlate fha 7‘0%:2/

Fransmiss/sn fime

= 7‘[\2_ F/l/\k /s él"oaébn e /'Mfd- g0 ﬁ‘c«ms

oo theny e 27 - [3,107 é//'cs per Frame
20

o [ 04963105 bts/Frame

o 20Uytes® Fr20 = KO bts are overhesd AL
in 7Zg_ ;V\amsmfﬁ(j framJL £ ACK SIZ

° /pwéo\lﬂ/’#)/ d/ Lio - FMJZ, 7[;‘67”’\!;/ s

e _\(1.0494x0° + fgo)
(1-f) = (1-p) "= (I~ 1) = 0. 9003
7: ';,/"é_ (/,/%) & (/"P;)R‘—’ 0.7
/.}-—[’Iﬁ. 3 Z(éfrop* épm)g

ne

n
il (2 o T

Page 11 of 13



EECS 3213 Assignment 4 Solutions Fall 2014

18. SW ARQ with fast timeout
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20. SR and GBN ARQ
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